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Name: __________________________________



1
Which expression is equivalent to [image: image1.png](x+ 4 (x+4)°



?

	1)
	[image: image2.png](x+4)°





	2)
	[image: image3.png](x+4)°





	3)
	[image: image4.png](x* +16)°





	4)
	[image: image5.png](x* +16)°







2
The expression [image: image6.png]%x(ﬁxz ~3r49)



 is equivalent to

	1)
	[image: image7.png]2x2 — x4 3





	2)
	[image: image8.png]2x2 + 3x+ 3





	3)
	[image: image9.png]253 - 2% + 3x





	4)
	[image: image10.png]253 + 3x2 + 3x







3
The expression [image: image11.png](m-3)°



 is equivalent to

	1)
	[image: image12.png]




	2)
	[image: image13.png]




	3)
	[image: image14.png]6m+9





	4)
	[image: image15.png]






4
What is the product of [image: image16.png]


 and [image: image17.png]


?

	1)
	[image: image18.png]2x2 - 21





	2)
	[image: image19.png]2x2 4+ x-21





	3)
	[image: image20.png]2% 4 4x-21





	4)
	[image: image21.png]2x2 + 13x- 21







5
When written in standard form, the product of [image: image22.png]


 and [image: image23.png]


 is

	1)
	[image: image24.png]3x—2





	2)
	[image: image25.png]2x2 + x- 15





	3)
	[image: image26.png]%% — 11x—- 15





	4)
	[image: image27.png]6x— 15+ 2x° — 5x







6
Which expression is equivalent to [image: image28.png](x=5)2x+T)—-(x+5)



?

	1)
	[image: image29.png]2x2 — 2x— 30





	2)
	[image: image30.png]2x2 — 2x— 40





	3)
	[image: image31.png]2x2 — 4x - 30





	4)
	[image: image32.png]2x2 — 4x - 40







7
Which trinomial is equivalent to [image: image33.png]3z - 2)% - 2(x - 1)



?

	1)
	[image: image34.png]3x2 - 2x— 10





	2)
	[image: image35.png]3x2 - 2x—

14





	3)
	[image: image36.png]3x2 — 14x+ 10





	4)
	[image: image37.png]3x2 — 14x+ 14







8
The product of [image: image38.png](x* + 3x+ 9)



 and [image: image39.png]


 is

	1)
	[image: image40.png]




	2)
	[image: image41.png]x4+ 4x4+6





	3)
	[image: image42.png]—6x% - 18x-27





	4)
	[image: image43.png]_6x* + x° - 18x% - 27








9
What is the product of [image: image44.png]2x+3



 and [image: image45.png]4x2 - 5x+ 6



?

	1)
	[image: image46.png]8x° — 2x2 + 3x+ 18





	2)
	[image: image47.png]8x° — 2x2 — 3x+ 18





	3)
	[image: image48.png]8> + 2x2 — 3x+ 18





	4)
	[image: image49.png]8> + 2x2 + 3x+ 18







10
When [image: image50.png](2x-13)°



 is subtracted from [image: image51.png]5x°



, the result is

	1)
	[image: image52.png]




	2)
	[image: image53.png]—12x+9





	3)
	[image: image54.png]% +12x-9





	4)
	[image: image55.png]% +12x+9







11
Which expression is not equivalent to [image: image56.png]453 + 22— 6x+8



?

	1)
	[image: image57.png]X (-4x+1)-2(3x-4)





	2)
	[image: image58.png]x(—4x" —x+ 6)+ 8





	3)
	[image: image59.png]4x% 4 (x- D(x-4)





	4)
	[image: image60.png]~4(x* - ) + x(x - 6)







12
Fred is given a rectangular piece of paper.  If the length of Fred's piece of paper is represented by [image: image61.png]2x—6



 and the width is represented by [image: image62.png]3x-5



, then the paper has a total area represented by

	1)
	[image: image63.png]Sx—11





	2)
	[image: image64.png]6x2 — 28x+ 30





	3)
	[image: image65.png]10x-22





	4)
	[image: image66.png]6x2 — 6x— 11







13
The length, width, and height of a rectangular box are represented by [image: image67.png]2x



, [image: image68.png]Ix+1



, and [image: image69.png]Sx—6



, respectively.  When the volume is expressed as a polynomial in standard form, what is the coefficient of the 2nd term?

	1)
	[image: image70.png]-13





	2)
	13

	3)
	[image: image71.png]~26





	4)
	26



14
Given: 

[image: image72.png]A=x+5
B-1x*-18




Express [image: image73.png]4%
+
B



 in standard form.

15
Express the product of [image: image74.png]2x2 + Tx— 10



 and [image: image75.png]


 in standard form.

16
Write the expression [image: image76.png]Sx+4x°(2x+ 7) - 6x° - 9x



 as a polynomial in standard form.

17
If the difference [image: image77.png](3% - 2x+5) - (x* + 3x- 2)



 is multiplied by [image: image78.png]


, what is the result, written in standard form?

18
Express [image: image79.png]12
G-+ D55



 as a trinomial in standard form.

1
ANS:
2
REF:
012309ai

2
ANS:
3
REF:
082206ai

3
ANS:
3
REF:
062217ai

4
ANS:
2

[image: image80.png]



REF:
082308ai

5
ANS:
2

(d) is the product, but not written in standard form.
REF:
062108ai

6
ANS:
4

[image: image81.png]2x2 + Tx— 10x-35-%x—5 = 2x° — d4x— 40




REF:
062419ai

7
ANS:
4

[image: image82.png]Wt —Ax+4) - 2x+ 2= 3% - 12x+ 12— 2x+ 2= 32° — 14z + 14





REF:
081524ai

8
ANS:
1

[image: image83.png]P+ 3+ NE- =2 -3+ 32— 9x+ 95— 2T = x° - 27





REF:
012415ai

9
ANS:
3

[image: image84.png]



REF:
081612ai

10
ANS:
3

[image: image85.png]5x% - (4x° — 122+ %) = x° + 12x- 0





REF:
011610ai

11
ANS:
2

[image: image86.png]x(—4x% - x+ 6)+




REF:
012016ai

12
ANS:
2
REF:
011510ai

13
ANS:
3

[image: image87.png][ﬁx’ + 2x](5x— 6) = 302° - 36 + 102 - 12x = 30x° - 265 - 122




REF:
081824ai

14
ANS:


[image: image88.png]x+ 5P +x° - 18=x"+ 10x+ 25+ x° - 18





REF:
062329ai

15
ANS:


[image: image89.png](2 + Tx - 10)(x+ 5)
22 + 7 = 107+ 102 + 35x - 50

2%+ 17x% + 25x- 50




REF:
081428ai

16
ANS:


[image: image90.png]Sx+4x°(2x+T) - 6x° — 9x = —4x+ 8x° + 28x° — 6x° = 8x° + 22x° — 4x




REF:
081731ai

17
ANS:


[image: image91.png](35" - 22+ 5)- (B + 3x- D =" - 5x+ 7

120 RN B
SERCARE MBS




REF:
061528ai

18
ANS:


[image: image92.png]



REF:
012028ai

